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Why is the ear different — R mnw1 AR

Overview
11 " explains why the ear was bored (and not another limb). mo0in explains why
we use a bore (or drill) :clltoge‘[her.l
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It is found in a w972 that the word 'v''%9%', in X u%%) is the numerical equivalent

of four hundred (years) -
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And since the Jews were slaves for four hundred years, and 77''2p77 redeemed
them -
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And this 72v went and acquires a master over himself, therefore his ear should
be bored with a yx9» which is the numerical equivalent of four hundred.

Summary
We bore (only) an 72y with a ¥¥7n for its X 1) of four hundred is the amount of

years the °"'12 were 0°72V.

Thinking it over
We learnt previously”’ that the boring can be done with a 191 X710 ,210 (not only

with a ¥¥7n). How does this fit in with N800 explanation.

" According to the iwA7 of 13 "1 one should be bored with a yx 1 for transgressing any of the 7mnaw 2> MoK, for
the same reason of 121 IYAYY K.
* See ©"wA i that because of the love of 71"2p7 to the *"12 he curtailed the Mm% (by counting the four hundred years
from when pr¥> was born). This magnifies the sin of the 72y.
i This addresses the question in footnote 3 1.
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